Complete the division sentence

olve for x. ( Simplify your answer)

x4 =2 b y4 > =10

9 5 ? 4 12
TEP L d. k+=Z=-=L

24 4 2

olve for t. (write your answer as an improper fraction)

Lip =2 £ Sbgl-
2 |5} 5} 4
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Complete the division sentence

Solve for x. ( Simplify your answer)

—1'- _'A b V; i =-&

ol 1[5 T4 12
tiply —f— b _;-to find x Multipl %Z b —2— to/find y
2 L y=19x 2>

{5} Iz +

2 y=30 » 5X6 .5
45 48 X6 8
= d. k+ ==L

24 4 2
tiplv—3- by 12 to find u ultipl 1! by 2 to find k

4 24 > -

S .12 Kk =|-|x 2

4 24 2 <

36 5 23 (=2 3 2 1
96 X128 10 P x4 5

olve for t. (write your answer as an improper fraction)

A el Bl
&) 5 a4
ide both'sides by t Divide th sides by s
2t tls 22t 13 Lglget sk
) 5
de both sides b 2 Divide both sides by ml
5 4
= —2— = i = J_ = t
5 1 5 P 3
ultiply! — by the reciprocal Multiply | —= by the reciprocal
2I 1= I TI 1 I
f = of —
D P
5 P
1,5 WEINY
2 2 o |
i t= 2
rAn <
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